[ Efficiency vs vertpos |

= 0.05¢ : : .

D.045F -+ +v oo fieenenenens 28 | - R

20 aak : : :

2004 oo o ST

2 E : : :

D085 oo g e

P - : ;

%0.035— ------- Fooe T s
0,025+ fieeeeor fo oo
0.02F e+ S I 9:5 4 | A .
0.025f e feeeee | Tt oo S
0.01F -+ U .31 11 B .
0,005 ++-+++osfiressee oot oo

o +WF - :

g

o L

1072 10 1 10 0?
TP vertr (cn%)

—=— DQM_NOFItZ_stepZ_tibar-phasel-newgeom
M_Fit2_step2_ttbar-phasel-newgeom

—e— DQ
Efficiend —— DQM_Fit2AndCPEGeneric_step2_ttbar-phasel-newgeom
—+— DOM_Fit2AndCPETemplate_step?_ttbar-phasel-newgeom

~0.05¢ :
T OSSR SRS SN SO S
[ o . . . . .
Z0.04F oo
> E : : : : :
H.035------ Prrsssrsdacacaces | R Peneeee
S E : : : : :
£0.03----- renneedeeeneeee (0 || R S Preenees
o o : : : : :
O R Rt 41| KRS AR SRS
0,02 -rioreor ol
TR RPN RO S 4, SO S
Y7 RN N 1 S S
T s S | s S
JERY PP U S 1 P I
5t
[ad [
1_— --------------------- S bl < e o g e e

09/ =20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05
>

00.045
S
#0-04
% 035

cO 03]

- N )

0.02
0.015
0.01
0.005

.............................................

|

Ratio

-2 0 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


